AHL—2 [RILTA—=] {HEIBA%E

M1i.2 {SM—S2760) ZBEH
B0 2734 x 347 6000 X 552763
Ha®Es MeEs [Had 1E %1 HasEs HaES (Haf E %k
G253M0010000|ZE&# B 1 GM-2681|M25300870020 | X T4 2
v-2610 |G253M0030000|45 &+ Hi 1 1040 X 130 X 70 (9 ke
G260M0020000| £ &4 #% 1 | [2NnJ-403|JuN0oM0O200000[B2/ 0L K | 3 |
G260M0040000| & # & 1 2364 x 707 X 106 (20.7 kg)
3000 X 170 X 110 (19 kg) | 2NJ-403|IN00MO200000[BE/ SR K | 3 |
G253M0050000(#% & # 1 2364 x 707 X 106 (20.7 kg)
V-2611 |G253M0120000| %4 1 | [2NnJ-403|JuN0OM0O200000[B2/ k)L K | 3 |
G253M0130000| BT 1 2364 x 707 X 106 (_20.7 kg)
2785 X 200 x 105 ( 138 k&) | 2NJ-403|JINOOM0200000[B/ Sk )L K | 3 |
VM-0020M253M0060010|AIa—F—4 % 1 2364 x 707 X 106 (207 keg)
M253M0070010|a—F—1# % i | [2NJ-403|JN0OM0O200000[B2/ )L K | 3 |
3183 x 200 X 180 (271 kg) 2364 x 707 X 106 (20.7 kg)
VM-002-1 |M253M0080000| 2 —F—4t % 1 | | 2NJ-402 | UNOOMO200000( B2/ $2 )L K | 2 |
M253M0090000|#a—+—4 & 1 2364 X 707 X 76 (142 kg)
2483 x 110 X 80 (97 kg) | 2NJ-402|JNOOM0200000|BE/ SR K | 2 |
| vM-0023|M253m0100000] R4 | 8 | 2364 x 707 X 76 ( 142 ke)
2398 X 105 X 55 (162 kg) | 2NJ-451 |JROOMO210000|BE/ KL /] | 1 |
| vM-0623|M253M0100000] ch R 4E | 7 | 2364 x 522 X 45 ( 62 kg
2398 X 105 X 55 (145 kg) F253M0330010 | E4R/KENY Z i 1
| sSM-2624|M253w0170001 |32 4% | 15 | F253M0350010 | BR/KY1Y A HT 1
2313 X 190 X 60 (209 kg) F260M0340010 [EBiR/KTIY E# 1
| VvM-0024|M253m0110000] s g 4% | 2 | |SS-2655|F260M0360010|BiRAKEIY Kk 1
2558 X 245 X 145 ( 17.8 kg) F253M0470010 [ & #:KE1Y ZEHH] 2
G253M3140000(F R AAESH 1 F453M0500010 (& #:KE1Y 6
V-S2630 | G25303240000 | o R £ 2 P44 1 G25300630000 | fif O {fx [E 7E #% 2
G253M3150000| — % B E (JudpY)SH 1 3585 X 222 X 98 (252 kg)
G25303250000 | —#& B R R4t 1 | | s-2682x|G253%0710000 R/ $%JL | 2 |
2710% 145 % 110 (321 kg) 2490 x 285 X 95 (103 kg)
V-S2031 |G253M3150000( —HEEBE (73&Y) SE! 1 | | s-2682x|G253%0710000 R/ $%JL | 2 |
G25303250000 (— A% B EA# 1 2490 x 285 X 95 (103 kg)
2710 X 140 X 65 (16 kg) | S-2682x|G253%0710000 [FE/$%JL | 2 |
V-S2032 |G253M3150000| — i EE (R&HY) SE 2 2490 X 285 X 95 (103 kg)
G25303250000 | — & BB 41 2 | |s-2682%|G253%0710000 |G/ $R/L | 2 |
2710 X 140 X 87 (319 kg) 2490 X 285 X 95 (_10.3 kg)
V-S2032 | G253M3150000| —HEBE (RéY)SH 2 | |s-2682%|G253%0710000 |G/ $/L | 2 |
G25303250000 (— A% FFEA# 2 2490 x 285 X 95 (103 kg)
2710 % 140 x 87 (319 kg) S-2683% | G253+%0720000 BRIV (EE) 1
sS-2633 | F253M0180000 (#iiF/ S — 1 G253*0730010 |FE/SRJL T 1
G253M0280000 |§F4E 1 2490 x 310 X 95 (138 kg)
2730 x 197 X 78 ( 102 kg) | AT-vM2 | 1399813101 [s-THE60(2E02)1=2563 | 1 |
G253M0270000 | BT 1L #E 4R 1 2583 X 61 X 61 ( 08 kg
V_2645 |G253M0680000| EB4RATEI/3— 1
XRBES-HEBFSO+HIIBAESESR
2755 % 430 X 150 (136 kg)
V-2036 |G253M0230000| ZE L4 AT 1
G253M0250000| 5 1E#E4R Bl 1
3120x410x 110 (202 kg)
V-2637 |G260M0240000|Z L4 #% 1
G260M0260000| L4t & 1
3080 x 310 x 105 (148 kg)
G253M0370000|#&L—)L 2
M253M0380000|7=TL—JL & 1
VM-2680(M253M0390000|/-TL—JL & 1
M253M0450000| R 714 /3 — 2
2000040049 |FESIETFITH 1
2782 %127 %55 ( 13.7 kg)



No. 2/2

O 2734 x BT

AHL—2 [RILTDA—] {HEIEA%E

,((SM—82760>>

6000 X ==2763

SEN

WaEs | Ha%s [H84% By | [ Hass | H2%S (B84 FEEA
G253M0400000|RL—JL 2 X INOFE D DAHEE
G253M0410000|#L—ILIEHEE 6 | s-2660 [F253M0290000(E4B4R i | 2 |
G253M0420000|#&L—)LIEHEE # 2 3576 x 785 X 70 (269 kg)
G253M0430020;BE & % 1 | s-2660 [F253M0290000| 2484k &I | 2 |
G253M0440020|;B8E& A 1 3576 X 785 X 70 (269 kg)
GYOOMO0810020| F & (k) 2 | s-2661 [F260M0310000|E4B4R 1% | 2 |
GYOOMO0820040| FE (TF) & 1 3060 X 785 X 70 (231 kg)
GYOOMO0830040| F & (F) & 1 | s-2661 [F260M0310000| 2484k #% | 2 |
GYO0M0840000)| i & 11 3060 % 785 x 70 ( 231 kg)
GYOOMO0850020|# & (F & 1) & 10 X fERBOIEE
GYOOM0860020| 1% (F B 1) A 10 | | s-z2660|F753M0290000| 2484k §1 (EZ AV H) | 2 |
G25300460000 | RS YL AR—H— 2 3576 X 785 X 70 (269 kg)
S253M0510000 |~ vave 8 & 1 | S-z2660 | FZ53M0290000| B4Rk 8  (EZFHAA) | 2 |
S253M0520000 | v ave B A 1 3576 x 785 X 70 ( 26.9 kg)
$25300530000 |13 LEES 2 | s-7z2661 [FZ60M0310000| B4B4R % (ST H 2
S253M0540000 |7 vi a2t 2 3060 X 785 x 70 ( 23.1 kg)
G25300510000 |7 h—£ 8 2 | s-z2661 |FZ60M0310000| B4B1R % (EZE/LH [ 2 ]
G25300520000 (& #t=£E 2 3060 x 785 x 70 ( 231 kg)
4984800358 |{b¥fa—4— & 1 X EEROERD
4984800359 |{t¥ta—7+— A 1 FZ53M0330010|EiR/KL]Y ZRiI(HE E}Uw‘ﬁi) 1
G25300560000 |EFFEIEHEE 2 FZ53M0350010|E#R /K1Y HRIGEZR LD A 1
G253M0570010| BB H KL 40 FZ60M0340010|B1R/KEIY E#EEER L A 1
4984800360 |&#yNH/\— 6 SS-Z2655(FZ60M0360010|EIB/KTIY A& E‘E,J&'pﬁ%) 1
G253M0590000| EiRO—+—H/\—RIAL 1 F253M0470010 | &#/KE1Y ZEHHI 2
G253M0600000| BiRa—F—H/\—RiH 1 F453M0500010 | &#KE1Y # 6
G253M0610000| B Ra—F—Hh/\—% & 1 G25300630000 | i A 1 & £ 45 2
G253M0620000| BRa—4+—Hh/\—%H 1 3585 % 225 x 103 ( 252 kg)
G25300650000 |R{E#EtRIEDHEE £ 1
G25300660000 |R{L#EHRIEDHEET 1 * ENODER G IE— AR AEAER (2 L CEBDE A TY
4989800133 |[TA4% D25(4FD4) 2 . _
4989800104 [TAY—41)vT O4H 3 88 | EREED |
GY0001000000 | 7> H—#E 2 W E EE
SM-82602| 201223012 e Lk (Fuk TvL v ED) 354 581 kg 681 kg
4401523003 - 6 B -
4401811002 | (F 7 ILFyMMERR)
4986300114 [fhKT—F (ESV) 2
4985700097 |7NF¥v T D17 12
4985700109 |[RLNRFryT 4 _ _ _ _
4985700026 |talF+vv T 46 BEIEHR S EBE ERamEs (*) WEES (*)
4986000033 |[Zx)Lb/SwF (6x20%5) 41 SM-S2760W L—> 7RI Ak W w
4401806023 |EiRES 41 SM-S2760S| 4 )L 77— JL/N— S S
4985700126 |RiRF M6Fxvv7 41
4401506001 |M6+ vk (158) 41
*| 4401206125 |M6 X 55XFEMRILE 25
*| 4401206127 |M6 X 75/XFAR)Lk 4
4401206123 |M6 x 407<FAAR )Lk 62
4401206122 |M6 X 207FAR )Lk 4
4401206117 |M6 x 167XARILE 237
4400360008 |M6x 12 E54al 22
*| 4401506029 |M6IS5 U ftRAF vk 110
4400350087 |M5 x 12+7E~X4l 146
4401205032 |5%x 127542 vEHl 42
4401204014 |[Y—I{+PANTHA42L(4 X 13) 13
4401208033 |M8x 20752 )Lk 2
4401508017 [M8I7S At RAT Vb 2
4984800317 [##£E :60(APEAIVIL30) 3
4984800215 |TJLAR60-80° 1
4401204015 |PANTH X4l (4% 16) 10
4985700017 |fE{+4 O AV (SG-50A) 1
4985700099 |[THARRLEIHF v 6
4987200021 |a—F2 45 FI(K) 1
4989800094 |A 1)L 1
4989800135 |#R[EER!—TP8 2
4987200002 |fEIEEH 1
5405340212 |{Rif= 1
4201898224 |##IEEH (F2FL—) 1
EG11SC000000|#A 37 FBAE (JRr &) 1
*[EG11SCS00050|#H I ERBAE (FEER) 1
425x 330 % 270 ( 188 kg)



